STEVEN

1335_85407

1335 85408

1335 85409




% 1500* 106 0Omm X1 1/2

== |190*1060mm X2 1/2

% 1510*250mm X1 1/2

2020*250mm X2 2=

55*50mm X13 1/2

2020*40mm| X1 2/2

Ty

L Sy X2 142

—— | 745*55mm| X26 1/2

© N[O ORNWN-=

> 30*55mm X26 1/2

— 60mm X4 1/2

=
@)

M8X30mm X24 1/2

)

M8 X4 1/2

M8 X24 172

=2 M8 X12 172

M5 X1 1/2

F
Cose— | 3.5X25mM X116 1/2

ey M13 X1 1/2

OMmmoOm >

FR : SAV/IINFORMATION /VIDEO/CONTACT

EN: AFTER-SALES SERVICE/INFORMATION/VIDEO/CONTACT

DE : REPARATUR-SERVICE UND ERSATZTEILE /INFORMATIONEN /VIDEO/KONTAKT
ES: SERVICIO POST-VENTA/INFORMACION/VIDEO/CONTACTO

IT: SERVIZIO ASSISTENZA/INFORMAZIONI/VIDEO/CONTATTO

PT: SERVICO POS-VENDA/INFORMAGCOES/VIDEO/CONTATO _
PL: SERWIS TECHNICZNY/INFORMACJE/WIDEO/KONTAKT

NE: AFTER SALES SERVICE/INFORMATIE/VIDEO/CONTACT

HE: oy Wpn2IXT'un/ yT'a/nnoni DN INK?









